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QUESTION 1

Which statement is TRUE about Balanced Optimization? 

A. Balanced Optimization is installed with InfoSphere DataStage. 

B. Balanced Optimization creates a parameter set called BalOpJAQLParams in the underlying project if it does not
exist. 

C. Balanced Optimization will change or optimize machine configurations, InfoSphere DataStage configurations,
database configurations, or HDFS configurations. 

D. Balanced optimizations are performed in a priority order. When there is ambiguity (for example, some 

processing could be performed either in a source or target database) processing is pushed into database sources. 

Correct Answer: D 

 

QUESTION 2

Given this score: 

It runs 3 processes on 2 nodes. How does the job run? 

A. On two physical nodes and two logical nodes 
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B. On two physical nodes and single logical node 

C. On a single physical node and two logical nodes 

D. On a single physical node and single logical node 

Correct Answer: D 

 

QUESTION 3

When building an UPDATE statement in SQL Query builder, which of the following is TRUE? 

A. Predicates cannot refine what rows are updated 

B. Table(s) referenced must have table definitions imported previously 

C. Column values can be job parameters or input columns but not expressions 

D. Columns to update must be selected individually from the column selection grid 

Correct Answer: D 

 

QUESTION 4

What COBOL data type is defined by Decimal data within the Complex Flat File stage? 

A. COMP 

B. COMP-1 

C. COMP-2 

D. COMP-3 

Correct Answer: C 

 

QUESTION 5

Which of the following statements about real time job design is TRUE? 

A. DSJobInvocationId is not required for the target sequential file. 

B. A non-Multiple Instance DataStage job can be activated for ISD service. 

C. A DataStage job must have an ISD Input stage, but an ISD Output stage is not required. 

D. The Information Services Director server starts job instances on one or more DataStage servers for load balancing
and scalability. 

Correct Answer: D 
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